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2. If given a table of datq:

a. Perfor g
m a LINEAR REGRESSION using your calculator: DQS mog

HOW TO PERFORM A LINEAR REGRESSION
Enter Your Data List
> STAT ———
> EDIT HE gV TS
> Type x values in L1 i L= : —
> Type y values in L2
Calculate the Linear Regression s, —“\
> STAT =1 S8 9anzre
el s:—ga?%‘%az%ﬁzj
> 4: LinReg(ax + b) ... "a" is actually m (slope) = pee——
-> substitute the "a" and *b* values into y =-ax+ b-to get your'—equa’non ri

Examples L, L,

o ¥y ‘ pd £ of -
= ot L
10 25 0 12,500
18 4 1 9,200
20 6 2 7850
25 7 4 6,100
g 85 8 3425
i(s; 125 Whid:aqunimmtdudydeﬁnnth:llnecf
best fit for the dat=?
Whlch:qmﬁnndeﬁ.nﬂthellmofhﬂtﬁtfonh:
data in the table? . A vea+12,500
B v=11,000¢— 12,500

1 =y -
F J=-5x-10 H y= 1 C v= "1000¢ + 8,000

2
i
@ gile=i 3 y=3i2 10 @n—-xooou-u.ooo

Your Turn - Find the line of best fit .
1 The table below gives the number of hours spent studying for a science exam (x) and

the final exam grade (y).
2 5 1 0 4 2 3

Yy 77 92 70 63 90 75 84
(1).023 [ b (Qagqa L/Lmeofbes‘rfl’r U\ (o, qu + (63, CB

5 The table below shows the lengths and corres ondin |deal weights of sand sharks.
x(in) |60 |62 |64 |66 |68 70 |72

y (Ibs.) | 105 | 114 124 [131 |139 (149 |158

a: H-%(ﬁ bi’_ﬂt} Line of best fit: y: ”}3(0)(”50'“! 33
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. Making Predictions - 1ke predictions.
Once we have found our line of best fit, we can use that line fo m P

_ . de):
Using Your Turn #1 (hours spent studying vs. final exam gra
a) Line of best fit: >/:: (p.09% _},(,3_‘5}3

b) Predict the final exam grade for a student who studies:

i 2.5&o)urs \3: L. OY (2.5) +(¢3q3 79
The $£ira) exam scort woud be a ;

ii. 6 hours Lj: (’OC)((O) +(_0393

&)

The Qral exam Scone owld be a/C0

¢) If a student earned a 98 on the exam, how many hours did he/she study?
If a st TL‘j) 98 on t h y hours did t yH—@/Sha G obld
| A% = (.09 +63. Qudy Gbodt
— (3.3 ~63 43 52, howr¥g,

Let's try another: 24,07 :—_'__(&qu‘ — 5
Using Your Turn #2 (sand sharkm (0.0 X =
a) Line of best fit: )[’-71‘/3(0')(- 156,14

b) Predict the weight of a sand shark with a length ({: 27y |
i. 80 jnches P ,
- UEs"e y= 4.36(80) - 1506.
The S'anj shact. would weigh abouvt 193 16,

B 105OiSches y: 4.30(’05)“ )s(p,l‘l
The sand dhout. would wzt:jh obout 302 |bs,

c) If asand shark weigha5 2)50 pounds, what is its length?

?: L:B;j— !'5;‘,3 The Sag-sand shack’s
iy lergth would be
A 9
150, 1Y + 5 SR T e
HOG.l1=436x
TH3,  43b
2315 = x
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